old basis:
e=<,0> &= <0,4>

new basis:
—,
b= <11, Ba= 2,1
., B= <BIenY

Mo basis changing mertrix
. (cdumns are new basis
Eomabal vechors)

s nverse :

R =

[inear change ofcoordinates
3 16\-em50§:§: X= BY
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scalacform: X =
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%2 = bh =
Poth\"i . <><()y2§ = <=5, — <9))\Jz> =
point? <YY» = L2740 2 <x.,$<2> =

Thshruchions:  Fallowing the a«zm?\e handout £ll inthe blanks above. Then re roducethe
example gvaphic with &€ then by, z;)‘l'hem use a ruler 4o create the hew 4x4 grid of
“anie Pam“elogmms " formed with es by, B, and thew translated vechors as inthe QXQMP‘Q.
Draw inthe Ui y, axes on this grid and label them. T™en graphically locate and draw
nthe posthon vedors of point 4 using the x~gid and point 2 using the y-gnd. Cenfirm
that the dther cootlinates you read OFf from the sthergrd agree wrhs your computuhon above .



